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CHILD DEVELOPMENT AND PEDAGOGY

1,

Which of the following Is not rolated with
cognitivo domain ?

(B) Application
(D) Undarstanding

(A) Knowlodgo
(C) Valuing

Co-curricular activitios are mostly
rolated to

(A) Mental development of students
(B) All round dovelopment of students
(C) Development of educational
institutions

Professional development of
students

Emotions and cognition are
other.

(A) Completely separate from

(B) Independent of

(C) Inter-woven with

(D) Not related to

A student got 47 marks out of 100in a subject
under scholastic area, this score will convert
in which grade under CCE scheme ?

(A) B, (B) C,
(C) C (D) B

Continuous and comprehensive
evaluation refers to

(A) Daily evaluation of students’
development

A system of regular evaluation of
students that covers all aspects of
students’ development

Regular evaluation of all students in
aclass

All of the above

(D)

_each

2 1

(B)

(C)

(D)
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(D) & wafea 74 #

4, F B F MaF a3 % aea vF fama b 100
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6.

Which one of the following is the best
method to evaluate the achievement of
students ?

(A)

(B) Annual evaluation
©)

Continuous evaluation

Quarterly evaluation

(D) None of the above

The teacher should try to make
environment in the class room.

(A) Helping
(B) Democratic

(C) Friendly
(D) All the above

Which nature is found in children more
and more ?

(A) Playing nature
(B) Mimicry nature
(C) Studying nature
(D) Fighting nature

A child is average on creativity, high in
academic achievement, poor in social
development. This is an example of

(A) Measurable individual differences
(B) Individual differences
(C) Intra individual differences

(D) Inter individual differences

(C) erd FH H
(D) 3ATET H B

T T TS T 3itad, et Iudte
7 3=g, g faeE 3 @0 21 8 | T’
T ISR 8

(A) W9 I safeaTd 3T

(B) =afemTd 3T

(C) 31 AfFad 3iaX

(DY S =R s

W & & foro wm
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10. Which of the following is ‘not’ expected
from the point view of successful inclusive

education ?

(A) Availability of trained teachers in
schools

(B) Availability of infrastructure in
schools

(C) To advice the parents of specially
abled children to send them to
special schools

(D) Appointment of trained counsellors
in schools

11. In a inclusive classroom which of the
following can be positive aspect for a

normal child ?

(A) Mental development becomes
faster

(B) Development of social skills takes
place easily

(C) Motor skills develop easily

(D) Moral development becomes faster

12. Free and compulsory education policy
has been implemented in school level
education for girls and socially backward
groups. Which mission it represents ?
(A) To encourage talent
(B) Equity and equality
(C) To ensure safety
(D) Fulfilling various needs

01223/FE - ETS/ELG - E
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(B) feramerdi # e Bl
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%) fordry ferameral & So@ 1 wa

(D) wfféra wRlcraTet 6 feremerdi &
[EREN

11. 1T HHT el % 1A
.

" (A) Wmmamasﬁﬁam% ¥

(B) | hivet 1 T e &
qaR v
(C) TeTeeh hive JTrET @ fershfd
qrel 2
Py A forhra oft @ B

12, Trerer w Y fren o anfersmatt ot wmiores
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fren A Afe = e w0 R | R e
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A TR ) et
(B) THaT 3R GHE
(C) geen ghifvad e
(D) fafay St A QU T
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13. A ‘Special needs language classroom’ is
ideally
(A) Exclusively furnished

(B) Located separately

(C) Integrates all types of learners

(D) Has extra teachers to-help regular
teachers

14. Total time taken in Indian Model of Micro
teaching is
(A) 30 minute
(C) 36 minute

(B) 40 minute
(D) 45 minute

15. Ifateacher finds a problematic child in the
class, what should he does ?

(A) Send a child back to home
immediately

(B) Ignore the child
(C) Punish the child
(D) Provide counselling to the child

16. Which of the following is effect on child
development ?
(A) Society
(C) School

(B) Family
(D) All of these

17. The physical development is not
associated with

Tt AT FAT

) =3 o A T T &A1 A
©) =3 T <fea T T =1Ed

16, Fefafad & FA-H1 ATH % [GHE T
T el & 7

(A) T (B) diam
() frarem T & wd

17. sl e =1 @3- 741 21 2

(A) Body weight TR % 97 8
(B) Intelligence (B) 3z &
(C) Skeleton system (C) ##d a3 |
(D) Growth of muscles wEytEl $ gfg |
& & % fore wam
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18.  Which is everything that effects the 18. g PH-8 95 & N =afF F = ¥ Al
individual except his genes ? e aEg B ITIYT w R 7
(A) Instinct (B) Heredity SRR (B) wwmEFA
(C) Environment (D) All the above (C) <rarey \(P)/ o |t
19. Gifted students are 19. wRnmael O 2
(A) Non-assertive of their needs W el o Wi gt 7@
(B) Independent in their judgements (B) 3 Pkl # T
(C) Independent of teachers (C) Tl & T
(D) Introvert in nature (D) F<HE! T
20. School based continuous and 20. TTOR JMHIRG Fad 3 A YA BEI
comprehensive evaluation is useful for ¥ o gl
students to
(A) Reduce stress (A) T BT A & T
(B) Make evaluation regular - (B) eI 1 Fafd F1 % o3
(C) Judge their own work (C) 319 HE H Ji=A & R
(D) All the above DY IR qft
21. The aim of CCE type of evaluation is to 21. CCE &R % Jeish H1 3 8
(A) Help to memorize more study Ay S e |t F ST |
materials easily e A H AGE
(B) Help to memorize more study (B) 3tfreh sreaa wrft +i e | AQ
material quickly | FA ¥ 7eg ™
(C) Help to develop skills to memorize (C) ¥ @A % Hive fasfea 1 4
eg M
(D) None of the above (D) IR ¥ § HIg &
22, What is the general term for covering 22, §F % it At wiedl a1, ¥, I]
all the various models of knowledge TG, IFGT FAT, FHeG FET, Tob HT B
e.g. Perceiving, remembering, ignoring, i 0 F R T I T 8 7
conceiving, reasoning ?
(A) Perception (B) Intelligence _ M IPE (B) e
(C) Understanding (D) Cognition (C) (D) pifa
& W & forg T
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23.  Which torm is generally used 1o descri 4 fadia &1 i1+ W’mﬁ?ﬁ%
the method and practie I der'.cnho g il g‘éi, fafaree AHFANAT (AT i
ok .pmctlco of education of ik ot 1 e B faf
students with particul: il N ferepTTcH) et -er N . " 3

p‘wm(‘uhr learning difficulties, _ ferd 3T W fg
mental health ISsues, specific disabilities a7eTE 7 s i
(physical or developmental) 7 o gt FA S0 e
(A) Integrated education (A) W_ﬁm
(B) Education for the disabled (B) fepel i
(C) Inclusive education \,GZ{WM Fnet
(D) Special education (D) gra fet

24.  Which of the following is not considered o4, Freferftaa H 3} for8 T T B T
as a factor of cognition ? ST g ?

(A) Anger (B) Hunger (A) 31T (B) E
(C) Retreat (D) Fear \(/@/W oISl (D) <t

25. Which of the following method is not 25. S 3 & FA-H vgll e 3R are
appropriate for recognition of low sight & gar B 1 gl T € 7
children ?

(A) Work performance test dﬂ/ i s TE
(B) Classroom observation (B) <h&T el

(C) Eye check up (C) EERSILH

(D) None of the above (D) I & | IS Tal

26. Education of children with special needs 06. TR amavEshd It Sl I Ram wem
should be provided ! ST
(A) Along with other normal children (A) I gHA Tl & |IY
(B) By methods developed for special \@/ﬁﬁﬂ el o TRy s==1 & @

children in special schools forepfira faftmt gra
(C) In special school (C) Ty faenerm o
(D) By special teachers in special schools (D) ferw ferenerat & oy fvereni g
T @ & forg v
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28.

29.

30.

In which of the following skill, testing of
previous knowledge comes ?

(A) Skill of demonstration

(B) Skill of introduction

(C) Skill of stimulus variation

(D) Skill of closure

The statement, “We have people amongst
us some who are tall and some who are
short, and some are fair and some others
who are dark, some people are strong and
some others are weak” is based on which

established principle ?
(A) Intelligence and sex differences

(B) Intelligence and racial differences
(C) Individual dissimilarity
(D) Individual advancement

“Each child is unique” this statement refers
to the principle of

(A) Continuity

(B) Uniform pattern

(C) Integration

(D) Individual differences

A child cannot distinguish between ‘saw’
and ‘was’, ‘nuclear and ‘unclear’. S/He is

suffering from

(A) Dyslexia

(B) Word jumbling disorder
(C) Dyslexemia

(D) Dysmorphemia

27.

28.

20.

30.
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33.

SECOND PART

fixefr

HINDI

RiwTCwEn' % Ry R gt wn
g 7 o

(A) WG AT (B) W
O Remd & (D) e sheen

‘e e ¥ e vt avef @
{AY IR W A

(B) wgww Wl

(C) g

(D) armETpe e W

‘S & o i wmd, S @) e’
wETen w1 o1 B |
(A) e @ arfire &) am @
By 7d =t fhan 3

(C) T=, wiF ¥ & =w # amd &
(D) wd % Imy & frer 3

a8

40.
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34, ﬁ%mymﬁam%’mmm% NG (B) =T
(A) T HY <fist T g T b (©) o (D) ¥
(B) anft, ey = et e 41, ‘R 1 ToEH 9 R 7
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e & e 9¢) gE & | 36 39 91 H1 AW T
1w fh a8 19 FEl 1 G i, DI SR T
I B FHIIEAA F HGER B | A T IH-TA
¥ foru amavas & | 97 90 99N, o 59 g9 & o
S o g B | BATT W, gAY 3T, FAR A,
FAR 7T, gAR 9 ) 3 ARy < g9, BN 9gd |
3T 3R AT U | ] 91 AT STl S
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THIRD PART

gt W
ENGLISH
SO

Read t i
questiohe ff)llowmg passage and answer the
ns given below. (Questions 61-70)

T .
oday | Rabindranath Tagore complete eighty

ea i

\gy%’gﬁige;i:sb:z?:db:k on the vas‘t stretch
. e and see in clear
perspectives the history of my e'(arjy_delelopmem,
:3 Z‘t': lﬁ:unfil; ?\/N:]h: ttCithue;nge that has taken place
e and the psychology of
my countrymen a change that carries within it a

cause of profound tragedy.
Our direct contact with the larger W
was linked up with the contemporary history of
English people whom we came to know in those
earlier days. It was mainly through their mighty
literature that we formed our ideas with regard
to these new comers to our Indian shores. In
those days the type of learning that was served
out to us was neither plentiful nor diverse, nor
was the spirit of scientific enquiry very much in
evidence. Thus their scope being strictly limited,
the educated of those days had recourse to

English languagé and literature. Their days and
nt with stately declamations

ulay’s long rolling sentences,
entered about Shakespeare’s

Poetry and above-all upon
of the nineteenth -

orld of men

nights weré eloque
of Burke, with Maca

discussions €

drama and Bayron's

the large hearted liberalism

At the time though tentative attempts were being
made to gain our national independency at heart
we had not lost faith in the generosity of the
English Race. This belief was so firmly rooted in
the sentiments of our leaders as to lead them to
hope that the victor would of his own grace pave
the path of freedom for the vanquished. This
belief was based upon the fact that England atthe

vided a shelter to all those who had to flee

time pro
tical

from persecution in their own country. Poli

martyrs who had suffered for the honour of their

people weré accorded unreserved welcome at

the hands of the English.

s impressed by this evidence of li
glish and thus I

| wa beral
humanity in the character of the En

was led to set themon the pedestal of my highest
respect. This generosity in their national character
had not yet been vitiated by imperialist pride.
About this time, as @ boy in England, | had the
opportunity of listening to the speeches of John
Bright, both in and out side parliament. The large
hearted, radical liberalism of those speeches,
overflowing all narrow national bounds, had made
so deep an impression on my mind that some
thing of it lingers even today, even in these days

iIIusionment.

1% @ & fogE

century English Politics.

space for Rough
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61,

62.

Why did tho educatod of thoso days had
to rocourgg to Englieh languago and
litorature ? Ee i
(A) The learning scopo was limited

\9V‘l’hoy liked statoly doclamations of

Burke

Thay wore attracted towards
lterature

They wanted to impress the
English

(©)

(D)

“The victor would of his own pave the path

of freedom for the vanquished" the reason

for this belief was

(A) The English were generous

(B) England provided shelter to all those
who had to flee from persecution in
their own country

(C) English followed liberal humanity

DYAll of the above

63. “lwasimpressed by the liberal humanity of

the English people.” The indirect speech

for this is

(A) The liberal humanity of English
people was impressive

(B} The liberal humanity of English

people impressed me

(C) Iwasin impression of liberal humanity
of the English

(D) Impression of liberal humanity of
English was on me

01223/FE — ETS/ELG - E

Which part of gpoach Is the word

liboralism 7

64.

(C) Adjective

NQ)’ Adverb

65. Whoamong!
literature 7
(A) Bayron
(B) Burke
Macaulay

(D) Shakespeare

66.
for ‘deep’
Perspective

(B) Profound
(C) Tragedy
(D) Psychology

67.
the notion of Englishmen ?

~Their advanced weaponry
(B) Their literature
(C) Their orders
(D) Their administration

68.
literature ?
The educated Indians

B All the Indians

0{2)/ Only writers like Tagore
D) None of the above

hem is not related to English

Erom the first paragraph, give the synonym

What helped the Indians to conceive of

Who could read and gain from English

@ @1 o forg
Space for Rough Work
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89. From the third paragraph, glve an antonym
for 'vietorlous'
(A) Vietor (B) Vanquished

(C) Bellef _(BY Persecution

70. Whose speaches did Tagore listen to as
a boy ?
(A) Shakespeare
(B) Bayron
\ John Bright
(D) Maoaulay

Read the Poem and Answer (71 = 76) :
Crabbed Age and Youth
Cannot llve together :

Youth Is full of pleasanoe,

Age ls full of care;

Youth llke summer morn,

Age like winter bare;

Youth is full of sport

Age's breath is short,

Youth is nimble, Age is lame:
Youth is hot and bold,

Age is weak and cold,

Youth is wild, and Age is tame.

71. Give the antonym of the word ‘nimble’.
(A) Bright (B) Keen
\(9)/ Scholarly (D) Foolish

72.  Give the synonym of the word ‘tame’.
(A) Subdued (B) Submissive

(C) Bright Gentle

01223/FE - ETS/ELG - E

73. If Age represent parents, Youth would

represent .
Grandparents

(8) Chlid
(C) Cousins
(D) Relatives

74, What does the poet meant by "Youth Is
summer brave” ?
(A) Youth Is dull and letharglo

vaa;/ Fast and flexible
(C) Adventurous and energetlo
(D) None of the above

75. Age Is lke winter bare what does the poet
wants to conveys by ‘Winter bare’ ?
(A) Spending life lavishly
(B) Pleasure-seeking
Believes in fulfilling the needs

(D) None of the above

76.  Which one of these is not the educational
characteristic of learning disables ?
(A) Child is unable to write the letters
correctly
(B) Heis poorin memorizing words and
framing sentences
(C) Theyshow poor coordination of motor
abilities
JD)/ He is not found poor in technical and
professional subject

& &1 & e wam
Space for Rough Work
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comes under the category

2 A1n m[c)lus-ive classroom should 80. Which O”h(.asee or productive language
. beflnq clear minimum standard of of express!V
ehaviour. skills 7 |
- gfﬁgte opportunities to listen to all /ListeniHQ, spealing
ildren. ’ B) Reading, writing
(A) Both statements are correct C) Listening, writing
(B) Both statements are incorrect (D) Speaking, writing
1 is correct 2 is incorrect uisitio
(D) tisincorrect 2 is correct g1.  Which theory of language acais oAy
that “The environment plays an important
78. Receptive language skills are role in acquisition of language- The childis
(A) Using grammatical structures a passive recip jent of external |nf|'ufnces
accurately _ from parents, siblings and others” ?
(B) Writing in a range of styles (A) Behavioral Model
\g/ léistening:) Iand reading for information (B) Nativist Model
eing able to self correct while . "
using language v(,(2/Semant|c — Cognitive Model
(D) Social Interactionist Model
79. Match the following types of questions with
their types. , 1
the __ familyo
1. Questions a. Global 82 E?g.llsh belongs fo yol
based on text orgin.
2. Questions that b. Factual (A) Dravidian
need deeper (B) Austro-Asiatic
understanding £
3, Questionswhere c. Interpretative ) Indo-European
personal opinion (D) None of the above
is needed
4. Questions d. Evaluative o
based on central 83. Listening and speaking are known as
ideas of themes (A) Modern skills
(A) 1-d,2-b3-c4-a (B) Primitive skills
B 1-d,2-c3-a4-b _
\ {—b.2-¢,3-d 4-a ey Primary skills
(D) 1-a,2-b,3-c,4-d (D) None of the above
W wd & forg v
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B4.  When you speak to prove your point to
others, than your speech s
(A) narrative informative

v(C) argumentative (D) persuasive

85, "Children initially possess and subsequently

develop aninnate understanding of grammar
regardless of where they are raised.” This
innate grammatical system is named by
Chomsky as

(A) Personal Grammar
(B) Universal Grammar
(C) Regular Grammar
\M Unrestricted Grammar

86. Blackboard, Posters, Flashcards, Printed
textbooks, Graphs and Infographics are
defined as

(A) Audio Aids
\gﬁr)/ Computer Assisted Learning”
(C) Visual Aids

(D) None of the above

87. Remedial teaching is important for
students

\w/ to provide additional help to the
students who are slow at learning

(B) brilliant students
(C) to help students to seek job
none of the above

01223/FE - ETS/ELG - E

g8, According to C:’:C’?‘.’;'f,"s theory, the role

- =

89. Leamning a new language sfter puberty
Jeads to
&)~ Normal acquisition

(B) Greater mast

m

ry
(C) Loss of masten

(D) Difficulty in acquisition

90. The Ding-Dong theory of the origin of
language was advocated by
LAY Wilhelm Wundt
(B) Noire
(C) Max Muller

(D) Otto Jespersen

@ &1d & e
Space for Rough Work
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FOURTH PART
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wged | .
(A) SCIENCE AND MATHEMATICS (a1) Ferm wa TifvTa

91. In five kingdom classification, Holozoic 91. ufe S arfferor 4, Wﬁﬂq‘ﬂsﬁw@
mode of nutrition is found in which of the orqur frfey e & & P <t o T
following kingdom ?

(A) Protista (B) Fungi Jx)/z qifewt (B) Fa®
(C) Plantae (D) Animalia (C) wid (D) uRmferar

92. In which of the following stage of cell 92. i favmem A Fr=r § & g ren 3

division, centromere splits ? g fereifeq 810 € 7
(A) Prophase (B) Metaphase (A) e ) qm
(C) Anaphase (D) Telophase C) = ‘” Al (D) SAcm=E

93. Who amongst the following forms the 93. glltililﬁmmwaﬂliltiimﬁwﬁé

first trophic level in an ecosystem ? =1 T8 7

(A) Phytoplankton (B) Grass (A) U wEE  (B)  UE

(C) Trees (D) All of these (C) 3@ (pf wH @ wh
94. Which of the following Is a viral disease in 94, = #@FH-w uzaﬁ % T g

human beings ? g ? .

(A) Common cold (B) Pneumonia (A) gmRgEM  (B) =

(C) Amoebiasis (D) Ring worms 19)/ sofifdfm (D) Rraw (am)

95. Aedes mosquitoes are the vector for 95. e weR e i & for dm S AEn © 7
which of the following disease ?

(A) Malaria (B) Ascariasis L Rt (B)  teHfretaw
(C) Filariasis (D) Dengue (©) wEafeRE  (Pf 1

96. If P and Q are the points on the line joining 06. aRfigPaMtQ, A(-2,5)3NB(3, 1) %1 firef

A(-2, 5) and B(83, 1) such that Teh @ W E ThR &
AP = PQ = QB, then the mid point of PQ is AP = PQ = QB, 7 PQ &1 7e7 fig &
(A) (2,3) (B) (-1,4) A 28 B (14
1 1 1 1
-3 ] -3 L
©) (2 ) (D) ( 4) (C) (2 ) (D) ( 4,4)

97. In AABC, length of perpendicular from A to 97. AABC #, A & BC & waaq & @aTg
BCis 15cmand BC=8cmand AC=24cm, 15cm 3R BC =8 cmNAC=24cm®e, @
ftBh?c? ;{lgd the length of perpendicular from B AC 7% Taad &) TS J1d FIT |
(A) 2cm (B) 3cm (A) 2cm (B) 3cm
(C) 4cm (D) 5cm (C) 4cm By 5cm

@ & & forg wo™
Space for Rough Work \/ @
/ L{ 1’(
Set-D
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98.

99.

100.

101.

Two sides of a triangle are of length 5 cm
apd 1.5 cm. The length of third side of the
tnangle cannot be

(A) 3.4cm (B) 3.6cm
(C) 3.8cm (D) 4.1cm

Inthe given figure, Ois the centre of a circle
and ZAOC = 1202;, then £BDC =7

(A) 60°
(C) 30°

In parallelogram ABCD, find the value of
X,y and z.
D

(z—15)°

(B) 45°
(D) 15°

A
(A) x=130°y= 50°, z = 65°
(B) x=120°y= 60°, z = 60°
(C) x=100°,y=60° z=50°
(D) x=140°y= 55°,z=70°
Two bodles one hotand the othercold are

kept in vacuum. What will happen to the
temperature of the hot body after some

time ?
(A) Remains the same

(B) Increase due to radiation
(C) Decrease due to radiation
(D) Increase due to convection

01223/FE — ETS/ELG - E

98. wE P A A e £ gt 5 3 v
15%%!%151’53@%%@@@

ﬁqf%rﬁgaaﬁﬁm é
34% 36-8-;ﬁ
(c) 3.8 4.1 3k /
go. RAMREH, O 53 8 3N
ZAOC = 120°, ABDC =7 4}
C
6
o %} 5
A A2 Lo : \ % ‘
o) >°
% %3
Pt %
60° (B) 45° s
@/30° (D; 15° .}Z,ﬁ
(/9

\,(k)/x-130° y = 50°, z = 65°
(B) x=120°y=60° z=60°
(C) x=100°y=60°2z=50°
(D) x=140°y =55°2=70°

101. & T wE gE 3 A g i Fata § wn
w%lwwﬁimﬂﬁa@%mﬁw

m ?

(A) @@ \

o I ¢ ST \7_0

(C) farfator o RV & &I SO
(D) HagA o Il g ST /

@ & o forg v 263
Space for Rough Work ’? = g
A~ 2 & _ ﬁ
P
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102.  Two blocks of ice when pressed together
join to form one block because

(A) of heat produced during pressing

(B) of cold produced during pressing
(C) melting point of ice decreases with
Increase of pressure

(D) melting point of ice increases with
Increase in pressure

103. The number of images observable
between two parallel mirror is
(A) 2 (B) 4
(C) 6 (D) Infinity

104. An object is placed at a distance of %
from a convex lens. The image will be

(A) Atone of the foci, virtual and
double of its size

(B) At gf , real and inverted: g

~

(C) At 2f, virtual and erect
(D) None of these

105. When light passes from one medium
into another medium, then the physical
property which does not change is

(A) Velocity (B) Wavelength
(C) Frequency (D) Refractive index

Directions : Q. No. 106 — Q. No. 108 :
The following Pie-chart shows the percentage
distribution of the expenditure_incurred in
publishing a book. Study the pie-chart and
answer the questions based on it. )
Various expenditures (in percentage) incurred

in publishing a book

Printing
Cost
20%

Binding
20%

01223/FE — ETS/ELG — E

102. @t o A =T I T T Hd TAH T
1 ST & F D
(A) TN T IHT I el 8
(B), TaTd §HY 3T 39 TIdl @
(2] 2T g T i eI el 8

(D) T TG T G I eI =gal &

103. o AT g4l % == ferem wfafera
Rar 3 ?
(A) 2 (B) 4
C) 6 NI

104, HIGH G I@Y 1) @m
T R | fefers g
(A) T IR T, SMTITHT TR 77 THR H

el

(B) gf W, ST 3R 3ee

vw{zfm,mr@ﬁqémm
(D) 37 @ IS T
105. e ST Ueh HTEAH & THY AN 8 el @, A

(A) &
ok
fader : 7.5 106 — .. 108 :
ArRied TR-=1E # T T&ieh IR H¢ & @9 &
SRS RereoT <61 T STl & | UTg-=T o STHE hi
37 3w MY T R TT HaATe! St ST < | T T
e & 1 gu farfir = (wfcrera )

@ & o forg ™

Space for Rough Work

ANEND 20-
I S,

15

N

Q O £

a, \ )
o\é



Q/V, o

If for a certain quantity of books, the
qul'isher has to pay Rs. 30,600 as
printing cost. Then what will be amount
of royalty to be paid for these books 7

(A) Rs.19,450 (B) Rs. 21,200
(C) Rs.22,950 (D) Rs.26,150

107. What is the central angle of the sector
corresponding to the expenditure incurred

106.

on Royalty ?
(A) 54° (B) 15°
(C) 24° (D) 48°

108. The price of the book is marked 20% above
the C.P. If the marked price of the book is
Rs. 180, then what is the cost of the paper

used in a single copy of the book ?
(A) Rs. 36.25 (B) Rs. 37.50
(C) Rs. 4250 (D) Rs. 44.25

Directions : Q. No. 109—-Q. No. 110:
The following bar chart shows the trends of
Foreign Direct Investments (FDI) into India from
all over the world.

Trends of FDI in India

0
1992 1993 1994 1995 1996 1997

109. What was the ratio of investment in 1997

()

'y

(
)
uf (’2)0//’ -
\ 7 C 11
//

'3
7

~ o
7,5 01223/FE — ETS/ELG - E

106, B T GErnt o, s w5
AT % 71 8 7773 20,600 F] G % T
g’mﬂv' H "7"":7‘7 114,,'!;‘;:“-‘-:7‘?{;’7;;:.
7 7 "

(A) 7. 19,450 B) %2
522,950 (D) 3

- = - [
Tgedl T R 0 7 F ATE 43 E 55

107.
W 547 (B) 157
(C) 24° (D) 4&°
A, .
108, TEF 1 EWA HAL F 207 7 HEA

T 3| T F1 S04 577 7. 180, W TEE
=1 U Ufa 4 9 FE B ATA 2 7
(A) %.36.25 (B) % 37.50

(C) 7.42.50 (Df 7. 44.25

frder : 0.%. 109 -T.3. 110
a7 AT g 8 wra 8 gz

a7a 1 UFZLAT. F FEA

351 3125
30- ok ]
EEE 2422
25 ATa &
20- ' a
151 .
s 1218 o

10

5.7
L

0
1992 1993 1994 1995 1995 1997

100, 1992 # firarer % gFmEa a1 1997 F1 FATd

over the investment in 1992 7 G ?
(A) 5.50 (B) 5.36 (A) 5.50 By 5.36
(C) 5.64 (D) 5.75 ; 5.64 (D) 5.75
110. Which year exhibited the highest growth 110. Mo srafy % fag wrd % uE. 2%, 7
in FDI in India over the period shown ? mmgﬁgﬁgmmﬁmg 2
(A) 1993 (B) 1994 (A) 1993 (B) 1994
(C) 1995 (D) 1996 (C) 1995 (D7~ 1996
1 @ & forg wm @ ?; = 76¢

65T

7 70

as
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112.

113.

114.

115.

116.

117.

in general, in an alternating cumrent circuit
(A) the average value of current is zero
(8) the average value of sguare of the
cumment ts zero

average value of power dissipation
IS zero

the phase difference between voltage
and current is zero

Which of the following is a unique property
of LASER ?

(A) Directional (B) Speed

(C) Coherence (D) Wavelength
The brain of any computer system is

(A) ALU
(C) CPU
The process of transforming files from a
computer on the internet to your computer
is called

(A) uploading (B) forwarding

(C) FTP (D) downloading
The volume of CO, liberated at STP
when 10 gm of 90% pure limestone
strongly heated is

(A) 0.224L (B) 2.24L

(C) 2.016L (D) 20.16L
Difference of simple interest and compound
interest after 2 years at the rate of 5% annual
interest is Z 200. Then v/hat was the capital 7
(A) 7 €0,000 (B) %85,000

(C) 742,000 (D) % 40,000

\What w/ill be cost price of an item which when
sold at the profit of 5% and at the loss of 5%

()

(D)

(B) Memory
(D) None of the above

111

112.

113.

114.

115.

116.

117.

01223/FE —ETS/ELG - E

;"«;1": ‘ IR : = aa:
(;‘.J uTa =1 Fie R 1G] J‘-u ?;7‘{ ‘%
(BY a0 F 3 = FHiad 54 A AL

(C) 338 FT553 = Fiea 97 52 2idl 2

3= .ml%

(D) ga s fa Fys © T

- =

B

GICRIUR S
4

;
Agaa-a1g ?

\\\’

=4 T Al

ﬂ'

(B)

Foogzi (928 71 34 195 721 31 are?

(A) ALU

(p) ==
(C) = &=4

-

(A) e TIED (B) FrEET
(C) =g ESETnED]
3 90% 72 T2 F T s 10TE F F=Eaa
% @ 7 w7 @ STP W g= CO,
#AEGA 2
(A) 0.224L (B) 2.24L
Jer 2.016L (D) 20.16L
5% 1157 =979 51 20 9§ 2 F5 F12 A9 2419

S 7914 A= F1 S < 200 2193 IO

T':’f_"Fﬂ AL7
( < 80,000 (B) % 85,000
(C) 42,000 (D) % 40,000

38 95 = FIH = 791 2 {99 5% TH T
WS%’THWT?HWEW—TW

the difference of selling prices be Z 60 ? %6031 ?
(A) %300 (B) %600 (A) %300 U,B')/ % 600
(C) 7800 (D) % 6,000 (C) 7800 (D) % 6,000
1% & & fere wm=
Space for Rough Work 5-[\5 cD\
;{L}O ~ ? ( \007\\ -
: (T p
-22- g\ % / \C 7 Set-D
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118.  Aperson distributes his property amongst
his three successors in the ratio 3 : 51 6
and distributes remaining property in the
ratio 1 : 8 in the name of himself and his
wife. If rupees one lakh remains with him,
then how much property he had before

distribution 7

(A) T30 lakhs
(C) T 38lakhs

(B) % 14 lakhs
(D) None of these

119. Population of a village is 7960 In which
4660 are female. If in that village 60% are
literate in which 70% female are literate,
then what is the number of literate male ?

(A) 1817 (B) 3300
(C) 1514 (D) 3262

120, Atrain travels 165 km In 95 minutes and
remaining 73 km In 1500 seconds. What
is the average speed of the train 7

(A) 238 km/hour (B) 120 km/hour
(C) 72 km/hour (D) 119 km/hour

121, Using three distinct points which of the
following shapes cannot be formed ?

(A) Straightline (B) Triangle
(C) Angle (D) Cone

122. Maor problem of Mathematics teaching Is
(A) Student's learning capacity
(B) Class room operations
(C) Follow government norms
(D) Extra burden of other works

123. Theteaching-learning resource ‘Geogebra’

\ I 01223/FE - ETS/ELG - E

118, vk A AT T Ay oy o i
Fefra 3: 5 6% s # Fafra 72 2 g aan
G 78 W IR Fam w1 ;8 % sgma A
forefra e &1 A2 3% 727 35 s A
417 =
(A) 1307 (B) X147
cy€asam ) (D) wHARE

Q% \()

119, T Tifa 1 SECAT 7960 & it 4660 Hfgemd
%1 af2 38 7l 4 60% H1ew & Fored Afeemd 70%

e &, < fnfea g < v PRt & 2

(A) 1817 (B) 3300

oy 1514 (D) 3262

120. & t@Te 165 Rt <t am 95 firre & e 9w
73 T3t 3 T 1500 Behve ¥ 77 et
21 @re) it f|a e F g 2
(A) 238 férft/gver (B) 120 fedt/avar
(C) 72T /aver (Dy119 feamft/quan

121, o P fergodi ot swam w frr # @
F-H1 ATH TE TS T el § ?
(A) & @l (B) fyw
(C) Hm DY TIF

122, Tftra fgor A oy I THET &
Ay o % e i g
(B) FTE T AT
(C) YTH HTIGUET 1 SFFE
(D) 3177 Tt &1 SFfftad M

123, YgA-diE &1 GETeA RrSsT F 3@

cannot be used by B S —
(A) Lame (B) Dumb and Deaf \W/FW@ (B) . Bﬁtfﬁﬁ
(C) Blind (D) Girls (C) e} (D) B
G Space for Rough Work ? 96?(%6 =) U7 74
l/ § / 7P Eﬁé}/-’a
/@ Lé EX F < 4,
0 L b
12 X 526%
/

sl

— . e &~ -— ~

e S NPT T R T T T T TR TRy
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124, TIfVTA 3 TEET A1 TEE AT AV G

124,  Eachchapterof a Mathematics book ends with
exercise. What is the concept behind it ? # 5t g B gk o A1 a8 7
(A) Extend learning opportunities \/(A(fﬂmﬁ{ FI AFHT AT
(B) Change the monotony (B) THTIAT I AZEAT
(C) Utilize time (C) |4 71 I7AM
(D) Provide fun and enjoyment (D) Wl & ATz 2
125.  Problems of higher classes are discussed 125, Fwaal FAIAT % warE £1 =t wafeE @
at primary level qt A F1 G B
(A) To create enthusiasm for further reading . M 1 973 % 10 feraef b
(B) To frustrate them for their less knowledge (B) 3% U T F feru weneanfaa #7m
(C) To deviate them from slow learning () fm wier 6 feafa 7 farafam 20
(D) To show own knowledge to students (D) A9 I BT F1 w2fiia w
126. Velocity of sound will be 126. Af F:1 9 B
(A) Smaller in moist air than in dry air (B T FA F A1 A9 A E FH
(B) Greater in moist air than in dry air (B) II7F 71 F 041 A9 71 4 7721
(C) Same in moist and dry air (C) 917k VA 79 71 211 3 UFAEH
(D) Independents of its density (D) zuF Fedi ar fj7 74 #aan
127. A magnetic needle is kept in a uniform 127, U e 43 ) UEaH gk 47 8
magnetic field. It experience T2 | FE A4 F Y
(A) aforce and a torque (A) T T AA-A g
(B) aforce but not a torque (B) A U A~ AT T
.(C) atorque but not a force FA-ATIN T FA FEH
(D) neither a torque nor a force (D) a1 adA-Zart 3 71 74
128. The laws of electromagnetic induction 128. fragerdm om 7 fom =1 273w
have been used in the construction of a T 4 PR 2 7
(A) Galvanometer (A) ammrdt (AT
(B) Voltameter (B) Hrezrzr
(C) Electric motor (C) faza vz
(D) Generator AT
% &wTd o foru v
Space for Rough Work
24 Set-D



Which of the following cells involves similar
chemical reactions ?

(A) Voltaic cell ana Daniel cell

(B) Daniel cell and Dry cell

(C) Dry celland Leclanche call
(D) Leclanche cell and Voltaic cell

A 220 voltand 100 wattbulbis connectedto

01223/FE - ETS/ELG - E

109, Fer o @ -] I F worgmr Tt
frm AT R 7
(A) aeefeh & qo e A
(B) et e o i e
ey T e T e A
(D) ST H ot el At

130. T 220 AT U1 100 T H Few Ht 110 AT
3 9 A g T R | we g g fa |

130.
a 110 volt source. The power consumption
by the bulb is MIEGAS
= =
(A) 25 watt (B) 35 watt (A) 259 (B) 354am P T
(C) 55 watt (D) 60 watt Joy 5 (D) 60 1
B’/
131. Sides of two similar triangles are in the ratio 131, 2 wwrea e ﬁ W\?ﬁ‘W CERIG] ) C&[’
4+ 9. Areas of these triangles are in the ratio 4: 93 Bl & Sl o s A~
(A) 4:9 (B) 2:3 (A) 4:9 (B) 2:3
(C) 81:16 (D) 16: 81 (€) 81:16 By 16:81
132. The length of a rectangle is increased by | 132. 3f T T 1 TS H 20% TG gE & I
20% and its breadth is decreased by 20%, <rerd § 20% o At 7T B, A A F &P
then what will be the percentage change F yfergrd afEe 1 BT 2
in the area of the rectangle ?
(A) 4%increase (B) 4% decrease (A) 4% T By 4% it
(C) 0% (D) 20% increase (C) 0% (D) 20% &
133. Two cubes each of edge 12 cm are 133, WEH 12 cm Yo7 I & HH SR A9
joined end to end. Find the surface area o RICE] AT F gg_@a-q;a:’f{m?
of the resulting cuboid. R
(A) 2400cme  (B) 1440 cm? (A) 2400 cm? \(By 1440 om? |
(C) 1400cm2 (D) 2000 cm? (C) 1400 cm? (D) 2000 cm?
134. What s the ratio of the surface area if two 134, QY RT  TEA H1 AIAW 12 27 1 I
cubes have their volumes in the ratio 1: 27 7 gt Sl ShT ST &I
(A) 1:8 B) 1:9 (A) 1:8 By 1:9
(C) 1:19 (D) 1:21 (C) 1:19 (D) 1:21
W/. T W o forg T o 2 2 24
[ . 90 Space for Rough Work 7::, =
wrls Te e paat B
36 ﬁ% 24 (120 2K l |
\ Set-D



136,

136.

137.

138.

I the helght of & oylinder Is 14 on and Ite
curved surlnoo aron In 204 om', What Is
the volume of the eylindor ¢

(A) 308 om? (B) 400 om?
(C) 506 em? (D) 300 cm?

Tho Information not obtalnod from
balancod chomlcal oquation Is

(A) Rolativo volumo of (Jasoous
reactants and products

(B) Relative numbor of molocules of
reactants and products

(C) Time taken for complotion of the
chemical change

(D) Symbolio representation of a chemical
change

Which of the following electron transition
in hydrogen atom willl require largest
amount of energy ?

(A) Fromn=ceton=1
(B) Fromn=1ton=2
(C) Fromn=2ton=3
(D) Fromn=8ton=5

Among the following which gases are
referred as "‘green house gases” ?
(A) CO,, O,, NO,, NH,

(B) CFCs, CO,, NH,, N,

(C) CH,, N,, CO,, NH,

(D) CO,, CH,, H,0,N,0

01223/FE ~ ETS/ELG ~ E

196, qen ) ek 14 oy Sl ag; b i

204 0l B oy wl s wal g 7

(F5) At iy

(L s cdy
/ / 4

(A) ao8 iy
(C) 696 i

190, dpfen tarmti i @ g aren

187, BIGY 9T if f 4 4 A~ g

138.

wva , o
W/"‘”" Afraon wd g & aifys

A
(B) Ao v s & Ao qn i £
iz
(C) Tt utorka w1 74 3 & v vy
(D) wH At uteada w1 wAreres,
uftrfafire

vy 1 waffirs, 77 % vn £ AmEme

o 7

(A) n=aAFaAn=1%4
B n=18n=2%
(C) n=2@n=34%
(D) n=3#An=564%

ﬁﬂ%ﬁnwm-mW"%w

Y fafd # 7
(A) CO,, O, NO,, NH,

_{BY CFCs, CO,, NH,, N,

(C) CH,, N,, CO,, NH,
(D) CO,, CH,, H,0,N,0

W &l o fore wam
Space for Rough Work
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140,

141.

142,

144,

Orygan cannot be otained by which
one of the {olloving methods 7

(A) By heating potassium perchlorats at
650°C

(B) By strongly heating copper
nydrozide

(C) By action of concentrated H,80, 0n
10,

4
(D) By action of water on 670N¢

A compound of nitrogen vihich % acidic
in nature

(A) NH,

(B) NH,OH

(C) NH

(D) NH,NH,

If (27)" = (1), then m?” 2 mn = 7

(h) 2:4 B) 4:2

(c) 16:9 (D) 1:3

({45 + 49" + 49" 4 49" 4 49" + 49" + 49’

=777 thenn="
(A) 1010 (B) 2020
(cy 7 (D) 49

If a number and its reciprocal added it
becomes 6, then what will be sum of its
square and square of its reciprocal 7
(A) 28 (B) 26

(C) 40 (D) 34

If a series has six terms vith sarme commorn
difference between two consecutive

terms and last term is six times of its first
term, then what vill be its fourth term 7

\2= =S S = AR AR
r"“/"v L o L At S/ S ke
7 s S - _ 4 ~ - A " ;
Eﬁ Jg»/ sy 0 s It T ’ 01223/FE ~ ETS/ELG ~ E
- = L a6l 2wy

: Ve 4 03
sy, A I A g Uy 1 peatins i
af Vst s 1

(f) ARV o 1 212G
)(//’ 17 A ) ) O 1 7
(C) MO, T8z 480, % % a
(D) A 72 k)
140, AT E TR L0E 1 A

(4) NH,
() MH,0H
(cf 1 H
(D) NH,NH,
141, #Z (27)" = (BAy, T o s on =7

(A) Z:4 7 4.3
(C) 16:9 (D) 1:3

142, 249" + 49" 5 49 +49 + 49 + 49" + 4T
= 7 AH = ==
(A) 1010 (B) 2020
(cr'7 (D) 49

As.) w2 v, vz vA 26% ZjFR F A5 T 6
F1 FTZ3 9 F A YA 70 7 /
(A) 28 B LT,
(C) 40 (D) 24 '

144, #2721 FATEA vl B HHE A F 7 92 AT
AN

(A) 4 (B) 12 ' (A) 4 (B) 12
(C) 3 (D) Can't be determined (C) 3 Dy Tt 7 e A 2 -
/)’-JJS/',C T
> . RO o = =

YJ\":‘/‘.l 35 T wd mﬁ’m,lam > 4_:1:(_ z
% W Space for Rough Work sz 41 > —
RO L gvi g P23 Ttz

F2 —¢r 29 gm = U eZex+icp E
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145. A;l)eacock sitti?(g atthe top of a 3 meter high 145, 3zt 43 01 # 300 7 421 vF 5 A
poie Saw a snake approaching towards pole ' m‘ 5 5 o 7 ’ 7 F
atadistance three times of the height ome Eﬁ e ;ﬁq T‘Fﬁ;ﬁ Mk iﬁ -
pole. Then it jumping from pole will catch the Yl ) TG AT FY B 61 95 il € T3
snake at what distance from the pole if both F 91 8 fFa 7"7 RIS Wf? FIIFRZ AN
are running with same speed ? IR R A B TA R Y ?

(A) 5 meter (B) 3 meter (A) 5%z ] 3%
(C) 4 meter (D) 8 meter \/(Qf 4 HzT (Dy 8H=Z=

146. Marasmus is produced by a deficiency of 5 %5 f S
which of the following ? y 146, e e A A R G e R 7
(A) Proteins (B) Carbohydrate 1 FIEEZZZ

A) UIEH B) #ETEEZZ
(C) Fats (D) Proteins and Calories ((C; e \,ZK)L IIT:T? Ua" i
147. Aparticle is moving in a circle with uniform S o F ey T é‘\ ‘
speed. It has constant 147. @mﬁqﬁvgﬂmmaﬁq@m 4
(A) velocity (B) acceleration N ¢
(C) kinetic ener i (A) 9T . 5
gy (D) displacement (C) T (D) Frear
148. A particle is executing SHM of amplitude 9 148, T FI1 9 AW I 4 FFUE SEFEE I I
and time period of 4 seconds, then the time : < e S & stfsAn T G AR
taken by it to move from the extreme position iRl . HW\ .’,m : g
to half the amplitude is 39 {1 A =e | T A
(A) 1sec (B) 3 sec (A) 13F7% (B) 1 =0z
3
2 4 . 4
(C) = sec (D) — sec ME qF0E (D) 2 qF0S
3 3 3 3

149.  Which of the following problem is 149. G F FOH | 79 § § SH-91 g941
associated with a burning of coal ? et e ?

(A) Carbon-dioxide emission (A) FTET-STETFEIEE FT Jeqeid
(B) Acid rain (B) 3 Iui

(C) Ash with toxic metal impurity (C) famre ?‘gﬂﬁ%mn@
(D) All of the above M m:@r

150. The apparatus designed to change heat 150. I S A forega St & ween ¥ fou frw
energy into electrical energy is ITERT FY TR ?
(A) Transformer (A) TR
(B) Thermocouple (B)

(C) Immersion heater EH AR
(D) Dynamo (D) erm
@ w1d & forg wm
Space for Rough Work
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\
A\
N

(O

A7
L &

a2. Whno is the ex-offico mermper of Nzgar

93.

(B) SOCIAL SCIENCE
i a question arises zbout e zge of 2
Judge of a High Court, who will cecice
about this matier 7

(A) Chief Justice of High Court

(B) Govemor with the consultzion of
Chief Justice of High Court

(C) Chief Justice of Supreme Court

(D) President with the coneuftztion of
g *t

Chief Justice of Supreme Court

=

Panchzyzt 7

i, Nominzted members
Vember of Stzte Legisizture who
becomes the memoer of Nzgar
Pznchzyzt
Wpermier of Lok Szbnz who becomes
the membper of Nzgzr Pznchzyzt

i

fii.

£ Qi

Representztives of members of S22
Legislature and Lok Szbha

(A) i, 0v (B) i,ii

(C) ii,iv (D) ii, i

iv.

Match the following -
List-1 List -1
a. Winter Solstice i. 21 March
b. Autumnal Equinox  ii. 21 June
c. Summer Solstice iii. 23 September

d. Vernal Equinox iv. 22 December
a b c d

(A) i ii iii v

(B) i iii v ii

(C) iv ifi ii i

(D) i iii i v

WY

N

O1223FE —ETS/ELG -E

{ s Z
Ed - r oA 5 o
- - - . -
e el E?m;m% -
" - z - - -
z = 5 =TI e - —
3 3= Tl Tl 2 T =
. - B r
== T Tl -

I

W

. = — -
(f) T= FHCE T TF AEEA

- ’.!?‘l.&pﬂ:
—~~ -

= - .
(J) -—l — i O (7 ,,:.ﬁd;f‘";_,

_T' -" “ - -
moie, =i Z= = = EifL z =

T2 EEimmiET = mGe= 3L T
- S .
=, il e =
. TiZ==t i «2~= =3 —a= T=ieG =%
————
== T
. - B
mer—l =

,\
ax
S
B
2. :I.‘ v
o u
r1|
Bl

~ = o =
= = = STiE= L
=1 -1 = -1
Z. e == izt =
b, TEEE S maAS L2t
c e i = i 23 ==
. g ) -
d. 3=azicm 143;_'."’«3:: M. 22 e=m
a b c d
(A) i i i e
B) i i v i
C) ™ ii i i
(D) i fi i 7

F &4 & (o8 ¥
Space for Rough Work




(—\\’l . AN\
\

94,

95.

96.

97.

Which of the following latitudes do the
trade winds blow towards the Equator ?

(A) 15°Nand 15°S
(B) 30°Nand30°S
(C) 30°Nand35°S
(D) 15°Nand20°S

Plain formed due to river erosion is
known as

(A) Peniplain
(C) Karst plain

(B) Pedi plain
(D) Loess

In Kashmir, which Sufi Silsilah was popular
in Medieval period, which draw inspiration
from the Saivite Bhakti tradition ?

(A) Sabiriya Silsilah

(B) Rishi Silsilah

(C) Nizamiya Silsilah
(D) Gangohavi Silsilah

Which of the following statement is untrue
about Akbar’s Rajput policy ?

(A) Rajputs were given military and
administrative positions in the empire.

(B) Rajputs were treated equivalent
with the Muslims in military and
administrative matters.

(C) Rajputs were treated with anamount of
lesser positions with the Muslims.

(D) Rajputs were made the Administrative
Heads of the Mughal provision.

01223/FE — ETS/ELG — E

94, Wmﬁﬁﬁaﬁam:

95.

96.

97.

W@ﬁmﬁﬁzﬁm%f

(A) 15° ST TE 15° E&m

(B) 30° 3T TE 30° &

(C) 30°SWT 35° =f&mn

(D) 15°FWTE 20° Zf&m
qﬁmmﬁm%mﬁféﬁﬂm
#___ FEdEl

(A) T =H (B) ==

(C) H AeH (D) @EE

FodR § HH-T1 ghi Rretaan TS
7y 1 ST A a1, ad (98 W
Stz e 990 &1 9919 41 7

(A) @rEfEr faafaan

(B) TSIGd! 1 GHEHH! & GHHE Al4d ad1
TeEhE &1 § 7E T4 |

(C) TSIl ! B & T FAHH! 1 gl
7 B¢ ue W e e @

(D) TSy I JTEEE GiEar Je Il 4
T AT |

& ®E & fofg T™
Space for Rough Work
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00, Which position was more Important In the OB, WY=T1 G A b g 4 vni
contral administration of the Mughales 7 a4
(A) Theo contral adminlstration of the () "_f,’f”ﬂ'? W HAm g ek urnan
Mughals was ko Dolhl Sultanato #1 1wry, ul
(B) The omporor usod tho practise of (B) HIEIY, GO0 %) uzgln %1 g 4
Jarokha ‘
(C) Tho Mir Bakshl was the highest (C) i mwy wy wgrs o iy @ g,
among othor Ministors TG
(D) Tho Wakll or Vazlr enjoyed tho (D) #hve 41 oA Bhn gamas % ved
moro Important position In the qgEyh 1419 g 7
contral administration
99. Which of the following was the most g9, frefaftea 4 9 2 g wm 4 ofs %7
Important method of assessment of land fautrn 61 Tl wyEh W 4 7
revenue during the Mughal times 7 T :
(A) Galla Bakhshl (B) Zebtl (A) Teen wHA (B) 7
(C) Kankut (D) ljara (C) #I%a (D) %7
100. Which of the Mughal tombs can be 100, FHA-H qTA quﬁz@ o 7%
consldered as the prototype of Tal Mahal 7 7, AR A Vﬁ’fﬁ %7
(A) The tomb of Humayun at Delhl () Tk i feqa wur 1 T
(B) The tomb of Akbar at Shehdarra (B) TmeEn # figa A 1 AT
(C) The Itmadudaula’s tomb at Agra (C) @ # féqa yamTEAEn = wEAT
(D) The Salim Chlstl's tomb at (D) wHEg Hr & fom e Favd w
Fatehpur Skrl T
101. Which of the following district does not 101. ﬁqqgm-mmmmmw
have Chhattlsgarh State boundary ? Rren T8 7
(C) Balarampur (D) Sarguja (C) TG (D) F
102. The percentage of women literacy in 102, AT 94 2011 %Wﬂmﬁﬂfﬁl
Chhattisgarh State according to census Aec 1 gfeed 2
year 2011 Is
(A) 60.14 (B) 60.24 (A) 60.14 (B) 60.24
(C) 60.34 (D) 60.44 (C) 60.34 (D) 60.44
& wd @ fore wm
Space for Rough Work
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103. Main reason behind the development of R st REat
Sirgitti Industrial Center is e s d o ¥ e 1
(A) Establishment of South - Eastern afRyor-al i & 6 W
coal field
(B) Establishment of BALCO (B) STesh! &l AT
(C) Development of cement industry (C) Hie I = fawmd
(D) Development of chemical industry (D) EWA ST 1 fasw
104.  Largest bauxite deposits in Chhattisgarhis | 104. owtgTg ¥ siwaTse & gaifves e §
(A) Patiyagarh hill (8) Gourduari hil (A) vRATg VRS (B) TRgeT VETS
(C) Futkahil (D) Kaksena hil (C) JTHIWERS (D) SHwaHl TET$
105. Bhaisadarha Sanctuary is not related to 105. SGTETET SWARVY T Ty TET §
(A) IFE ;srksnuated in Indravati Natlonal (A) TR SEEd T Ia § R #
€ il e licditire (TS gl S
National Park ©) 7 FIR HE} T S o R
D) It is situated on Konta-Hyderabad i
& road : (D) ¥R FieT-auare it W e B
106. Indian Political Systemis called responsible 106. WA THiaeh SHaedT ST §THR
Government because there is FEATd § HifH I8 8
(A) Republic System (A) TIOTGE e
(B) Democratic System (B) ThdifAe STEEAT
(C) Federal Government (C) TETHH A
(D) Parliamentary Government (D) |EEN WA .
107. When a Right is called Fundamental 107. T AR o JTRIHR e g 8, A
Right, if
i. Itis written in the Constitution . I8 "fyum # foan mn @
ii. It is written in the Constitution in the Ii. Ig Higum # qot IR & orwm |
chapter of Fundamental Rights fora |
jii. It is protected by the Judiciary iii. Ig =ARTiTeRT g i g
iv. It can be amended by Constitution iv. 3@ Gfaum gmye vgfa @ e e
Amendment Procedure ST Gehl B
(A) _i','ii., iii' (B) i_i, iii_, IV (A) i, ii, i~ (B) ii, iii, iv
(C) iii,iv,i (D) iv,1,ii (C) iii,iv,i (D) iv,i,ii
I & & forw e
Space for Rough Work
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108. How Supreme Court
protects the ey SO 1
Supremacy of the Constitution ? 1Re: I‘fﬁ"" AP BRI ) i 7% 22
. By due qifun #a Y 7
. roce .
i. By proch gty St e 2
A ure established by law R L —
(A) iis correct SREGE N, =
(B) iiis correct ®) iiThY
(C) iandii both are correct €y iAniizH vty
. - AL 2 KU %
(D) iand ii both are wrong (D) i AV i 7 e
v 4 199 7
109. What is correct about the dismissal of 109. T=HF9] % TTEGTIH E) S o £
Deputy Chairman of Rajya Sabh 9 b L S A G A
jy8 Sanieac % ah T 7
i, Hecanbedismissedbyno-confidence i, @8 m T 7 e L
motion mé' q TEaE 27 9e=d0 Al 9
i To introduce such resolution prior i ﬁgqﬁﬂw_ﬂ_ﬂ?v
0 . . L4 v - N ¥ IsIINAG T4 ;‘_,J’
notice of 14 days IS essential 145 q:( o 3
i, Such resolution should be passed by jii, m #F Fram wgEm E T 29
absolute majority e sl L il
iv. Such resolution shouldbe passed by v, tET S 2R F A T e
a majority of the then members of the ¥ 7zaA B i S S e
house S 3 L0 Zi%l BHEY
(A) i, i (B) i,iv (A) i, i (B) i,iv
(C) ii,iv (D) i, iii (C) ii, v (D) i, ii
110. What is correct ? 110. FAFNR 7
i Finance Bill can be introduced in Lok i fom fadms FAw dEed T g=anad
Sabha only Fepa < 94T 2
ii. Rajya Sabha can detain the i e T fagEE = = FA E
Finance Bill ' gHdl 2
(A) iis correct (A) iTEE
(B) iiis correct (B) iiTd?
(C) iand ii both are correct () i3iigH T
(D) iand i both are wrong (D) i 3Ci Td &
@ S & fog e
Space for Rough Work
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111, Social studies Is a 111, wrfis sroqgs o 8
(A) Unlfled and Independent subject (A) g aftc ey firea
(B) Intellectual and experimenting (B) e afvt s finrg
subject
(C) Practical consequence of sclenoe () firgra ¥ wrgrtien S
(D) None of these (D) vt & wf el
112, Who sald that “Soclal change wae the | 112, firw wer et i vammifins afteds srgger 41
result of natural process of adaptation” ? sepfeves s w6 o 8¢ 7
(A) Darwin (A) T
B) Spencer
oy (B) ¥
(C) Marx e
(D) Hegel ()
(D) &
113.  Instructional objectives are 113,  Srgaumers 3w §
(A) Specific (A) fafire
(B) Brief and practical (B) wftre ik =TT
(C) Clear and achievable (C) == N I A
(D) All of these (D) Aushh
114. In social science, reflective teaching is 114. grive fagm ¥ fasfte frgor =t fafim
preferred to routine teaching because Reqor @ erfires weie famn s R, =it
(A) ltis unresponsive to changing (A) & seardt witfeufoat & forg
circumstances TG B
(B) It implies flexibility, analysis and (B) &1 Wads w<temad, favssw stk
social awareness TN STl &
(C) Itis a new idea, hence popular (C) & A=ig wd 71 fym §
(D) Itis guided by traditions (D) =& v g PR ®
W w1 & fore wm
Space for Rough Work
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115. Teachers teaching soclal studies, in
addition to subject-content, should know

(A) Aims of teaching
(B) Methods of teaching

(C) Techniques of teaching
(D) All of them

116. Which legal text of the Gupta period
gives us a fair idea of the polity and
administration of the Guptas ?

(A) ‘Nitisara’ by Kamandaka
(B) ‘Meghdutam’ of Kalidasa

(C) ‘Devichandraguptam’ of
Visakhdatta

(D) ‘Mrichchakatikam’ by Sudraka

117. Match List— 1 with List— 2 with the
assistance of the codes given below :

List—1 List—2
(Authors) (Works)
1. Aryabhatta a. Brihat Samhita

b. Hastayurveda
c. Surya Siddhant

2. Brahmagupta
3. Varahamihira

4. Bhaskara d. Khand
Khandayaka

5. Palakapya e. Siddhanta
Siromani

Select the correct code :

(A) 1-b,2-c,3-d,4-a,5-¢
(B) {-c,2-a,3-¢e,4-d,5-b
(C) 1-e,2-a,3-c¢,4-b,5-d
(D) 1-c,2-d,3-a,4-¢,5-b

01223/FE - ETS/ELG - E

116, AmIfaF Ao % g % A F
qra-414 714 7131 A1y
() Tan # 2z )

(B) favam fafudi =1
(C) foam awE =1
(D) 7 3w

116, TAFA & FEm 94 @ A 4w A

(A) T fafaa Sifrew
(B) e fafaa =agam

(D) 3= fafEs g=esices

117. G- 1R G -2Faa = AR E=
HGHE”? iﬁEils_ZJ .
g -1 e -2
(vr@=) (T=rma)
1, @E9E a. geeaEal
2. - FIIA b. Tga2
3- aUQ'\l lrc‘ S C. H::j rﬁé,!::'-.i
4, HTEE d. @vE e
5. A&l e. Tagra fmm
EEETAGLE

(A) 1-b,2-¢,3-d,4-3a5-¢
(B) 1-c,2-a,3—-e,4-d,5-b
(C) 1-e,2-2a,3-¢c,4-b,5-d
(D) 1-¢,2-d,3-a,4-¢e,5-b

@ HTE & fofe T
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118. In the Brahmaputra valley and the 118, #RgA 78 1 9781 A g4 - fagm a7 7 9o
Cooch-Bihar, who was the prominent “ ) ey vfF aa fagam a1 7
Bhakti Saint during the medieval times ? % . i 4 '
(A) Raidas (B) Panna (A) Yzm (B) 1
(C) Chaitanya (D) Sankardeva (C) == (D) htcd

119.  The following two were the saints of 119, 7o wfF 7@ % 21 94 g4
Krishna Bhakti Branch

1. Tulsidas 1. godre™
2. Surdas 2. qgla™
3. Kabir 3. AN
4. Mira Bai 4. HrEam
Select the correct codes : & Fe F g
(A) 1and2 (B) 2and3 (A) 17d12 (B) 273
(C) 2and 4 (D) 1and3 (C) 2du14 (D) 1qu3
120 MatehList—Iwith List-Ilonthe assistance | 120, gefi-I @ gei-Il & firemsd, % Ry T e %
of the codes given below : AN :

List—1 List-1I W" Ea“f-ll
(Sufi Saints) (Silsilah) (T ) (Reetfirem)
1. Shaikh a. Chisti 1. T TEREH  a. Towd

Bahauddin SEato|

Zakria )

2. Khwaja b. Suhravardi 2. &Nl b. getEel

Moinuddin HIggEA

Chisti v
3. Abdul Qadir c¢. Quadaria 3. gAML c. Hifefar

Jilani SiGICH
4. Shaikh d. Shattari 4, @ 3Fegeet d. e

Abdulla T

Shattari )

Codes : g
(A) 1-b,2-a,3-c,4—-d (A) 1-b,2-a,3-c,4-d
(B) 1-c,2-b,3-a, 4—d (B) 1-c,2—b,3-a,4-d
(C) 1-a,2-b,3-c,4-d (C) 1-a,2-b,3-c,4-d
(D) 1-a,2-¢,3-b,4~d (D) 1-a,2-¢,3-b,4-d
T & o forg v
Space for Rough Work
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121 PO!‘(‘ 1 s S = R .
ygynous family is representad by 121, dERiEE AfET T w2
(l;) A man and woman living together (A) T79 #r fzen @9 e 3
(B) A woman living with many vomen (B) dAfzen =2 afzen= & 714 &l 2
(C) Many men living with many women (C) = & T4 =g ewmadl 5 914 A €
(D) A man living with many women (D) TF T79 FE Hieansil 5 A4 @Al 8
122, Who classified three aspects of caste — | 122. wifa F 7 TR -gt@a, =9
secular, ideological, integrative ? THFHd F HEE H:ﬁﬁ’ﬁ fear 2 ’ ’
(A) M. N. Srinivas (A) TH. . Aif"E
B . g
(B) L.Dumont ®) m’a =
o , (C) THI SIeil
(C) Rajani Kothari
(D) <. wE. ga
(D) G.S.Ghurye
123, Who wrote the book titled ‘The History of 123. ‘The History of Human Marriage’ I
Human Marriage’ ? & feed fad 7
(A) Maclver and Page, 1927 (A) BehaTEa AUT U,1927
(B) Westermark, 1921 (B) =&, 1921
(C) Durkheim, 1914 (C)7 = L
(D) Kingsley Davis, 1920 () ) pisE0
124. Who is known for the concept “foot 124. mﬁ‘gzwéat’wmiﬁ%m%é
loose labour” in India ? S ST R 7
(A) Dipankar Gupta (A) TeareRt e
(B) Partha Chaterjee (B) qrgt Tl
(C) Jan Breman (C) W 3
(D) Anton Barten (D) THEH AN
@ wd @ fore v
Space for Rough Work
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frfafa § 7 #53 -7 WA 1 F A0

125. Which of the following Is not the source of 125.
Indian history ? T# b
(A) Archeological sites (A) grafeas ¥4
(B) Folklore (B) aF aifz=
(C) Monuments (C) zATE
(D) Literature (D) =z
126. The Jain Temple of Arang is called 126, @i % 29 wfz F FA A2
(A) Kewalya Temple (A) FAT A
(B) Bhand Deol (B) ¥z Zad
(C) Mahavir Temple (C) werEm it
(D) Digambar Jinalay (D) femear e
127. What is the other name of the Sati temple 127. 38U F FyEH 911 | fEradae =
located in Keshkal valley of this State ? I ?
(A) Telin Temple (A) e AT
(B) Mahishasur Mardini Temple (B) HfgaTgt AfE AT
(C) Mahamaya Temple (C) eI Hiet
(D) Ghatiyarin Temple (D) afearH Al
128. The Magh Purnima fair held at the origin 128. WEME ¥ ITTH T T B TS AT IO
of Mahanadi is named of the following FAA g FRFAIHEL?
sages
(A) Muchkund Rishi (A) FIF=< BN
(B) Lomash Rishi (B) MM N
(C) Agastya Rishi (C) T M
(D) Shringi Rishi (D) it &My
& &1d & fore T
Space for Rough Work
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129. Match the

tollowing events of 1820 with
thelr dates belore the Non-Co-operation

Movemant.

a. Political
Conlerence
of Ralpur

I. April 1920

in Bilaspu?
Eystlabour . 17 March 1820
Movement
sarted in
Ranandgacn
d. Meeting of iv. 20 March' 1620
jeaders of
Dhamiar in
Kande! Vilage
c d

* -i

i v

2
SRR
= > o

il ii

G
=g -
Bl -
<
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120, wwem e ¥ o 1920 ¥ S

T ¥ Tl A R gt A |

a. TTpETEfw | m g0

b. fremeqddd . femvis20
fw

. T iyes H. 17=¢ 1620
T

d. FeETES uEld . 205 1820
i Tk Ik

a b ¢ d
(A) iii v i
(B) i ii iii v
(C) iv i il fi
(D) ii iii i v

Y ———— e
IS UHS=3 S34@ =1 Qieaigd = =

130. Who is the story-writer of Dao 130.
Ramchandra Deshmukh's folk drama TEAEER &
Kari ?7
(A) Vinod Shankar Shukia (A) TRI=RT=
(B) Padumial Punnalal Bakshi (B) TEFEw Ta S=l
(C) Keyur Bhushan (C) Fg I
(D) Narayanial Parmar (D) -REvIaT WEK
@ F1@ & (e ™=
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Match List— 1 with List -l taking assistance
of the codes given below :

List -1 List =11

(Treaties with (Years)
Marathas)

1. Treaty of Salbai a. 1782

2. Treaty of Bassein b. 1802

3. Treaty of Surji Anjangaon c¢. 1803
4. Treaty of Rajpurghat d. 1805

Codes :

(A) 1-a,2-b,3-c,4-d
(B) 1-b,2-¢,3-d,4-a
(C) 1-c,2-d,3-3a,4-b
(D) 1-d,2-a,3-b,4-c

131.

01223/FE — ETS/ELG — E

efi-| o g1 & firemed, i et e
FERAT 4

i g -1l
(ST & e Y TS (a)
wftrar)
1. areET a. 1782
o AR E b. 1802
3. gueht s AT E e, 1803
4. T B G d. 1805

%R

(A) 1-a,2-b,3-c4~d
() 1-b,2-c,3-d, 4-a
(C) 1-c,2-d,3—-a,4-b

(D) 1-d,2-a,3-b,4-c

132.  Which of the Governor Generals 132, Frefafaa 3 @ fre e S 3 W TS
.adopted the policy of Subsidiary Alliance ¥ R weres |ty i it ogd ?
with Indian States ?
(A) Lord Wellesley CNISISEREEI
(B) Lord Minto | (B) e i wem
(C) Lord Lansdowne (C) e ciHeRT
(D) Lord Dalhousie O ISISESEE
133. Match List-| and List—l with the assistance | 133. . F=fi-1 ! geh-I1 & firemed, fe A R g2 &
of codes given below : MY T :
List -1 List—1I it - | = -1l
(Leaders of 1857) (Places) (1857 <& ) (zam)
1. Bakht Khan a. Kanpur 1. J=q @l a. HAY
2. Nana Sahab b. Lucknow 2. T 9red b. T@1&
3. Ahmadullah Shah  c. Arrah 3. 3fgHGYI M8 c. A
4. Kunwar Singh d. Delhi 4. g,—cr{ﬁqg d. feo<ht
Codes kT
(A) 1-b,2-c¢,3-d,4-a (A) 1-b,2-¢,3-d,4-a
B) 1-b,2-a,3~c,4~-d (B) 1-b,2-a,3-c¢c,4-d
(C) 1-¢,2-d,3-a,4-b (C) 1-c,2-d 3-a,4-b
(D) 1-d,2-a,3-b,4-c (D) 1-d,2-a,3-b,4-¢
) W & & fore e
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01223/FE — ETS/ELG — E

sivirge fafiy 1 ufaure e fm an 7

137.  Who propounded the project method ? 137,
(A) Froebel (A) HHEA
(B) Kilpatric (B) fFerdfes®
(C) Armstrong (C) st
(D) Maria Montessori (D) wifen HR2EAG
138.  Which of the following is not the 138. e i@ 2w e ffa = fam
principle of project method ? T ?
(A) The principle of experience (A) A9a 1
(B) The principle of purpose (B) 3w
(C) The principle of social experience (C) TR ST 1 fram
(D) The principle of preparation (D) Jarh = f1am
139. Project based learning helps students to 139, e i e faenfiai # fawfea
develop HAT 2
(A) Critical thinking (A) ST |
(B) Collaboration (B) w&dm
(C) Creativity (C) gsHTcHSRd
(D) All of the above (D) ST wft
140. What areas of social studies can project 140. TS 3T o HIF- &1 1 Feige SE1ia
based learning be applied ? 1 A & "l & 7
(A) Economics (A) 3refame
(B) Civics (B) iR
(C) History (C) sfigm
(D) All of the above (D) I ot
& & & foe wam
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141. Match List — 1 with List — 2 with the 141, -1 sHi-23 o2 Tm3=S
assistance of the codes given below - P l sl 3 i .
: v & e
List -1 List-2 HqE1 -1 TH1-2
(Indus Valley (Burial (g o5 5 w=2=) rETETE =
Sites) Customs) gZfaa)
1. Harappa a. Brick chambers | 1. 273 a 4;3":?‘:?‘7’;);
2. Lothal b. Coffin Burial 2. =am b. 3= S 3EEE
3. Kalibangan c. Pot Burial | 3. FTEEH c. Z5=1 B 3ETEE
4. Surkotada d. Double Burial | 4. Tz d. 2% 3ETER
Codes : Ex
(A) 1-b,2-d,3-c,4—a (A) 1-b,2-d,3-c 4~z
(B) 1—d,2—-b,3-a,4—c [ (B) 1—d,2-b,3-2,4—¢
(C) 1-b,2-d,3-a,4—c r (C) 1-b,2-d,3-a,4—c
(D) 1—a,2—c¢,3-b,4—d (D) 1-a,2-¢,3-b,4—d
142. Which are the two Indus valley sites, 142. f"'g TR ISR I SES ST S
having evidence of cultivation of rice, TSRSk E, SIT=ETER:
which may possibly the oldest ?
1. Amri 1. g
2. Koldihwa 2. FEEEal
3. Mehargarh 3. TR
4. Gumla 4. THE
Select the answer from the codes given A TN R R IR w
below : AIE
(A) 1and2 (A) 1312
(B) 2and 3 (B) 29413
(C) 3and4 (C) 3dg14
(D) 2and4 (D) 27uT4
@ &1d & fouwm
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Frerferfin 7 & - e A Hepla

143. Which of the following statement is true 1
about the Vedic culture ? @, .o
gy i g 2 7
(A) The Vedic culture was straight (A) afew depfa Hied 3wt ol |
forward and simple.
(B) The Vedic culture gives importance (B) afew wepfd 3 wfeen @A il
to the women empowerment. g fean 2 | -
(C) The Vedic culture was based on (C) At depfa THTEERE T l
the principle of one-godhood.
(D) The Vedic culture gives importance (D) 3R wepfa A 7t 1 wEe AT R |
to sacrifices (Yagnas).
144.  Which of the following is not correctly 144, Freffea § & HA-91 98 e @i B 7
matched ?
(A) Kalinga — Jaugada (A) Earul L
(B) Uttarapatha — Taxila (B) STWU¥ - aefRre
(C) Dakshinapatha - Suvarnagiri (C) chromy - G
(D) Avantiratha — Ujjain (D) sEfRYy - I
145. In which of the following edict Asoka refer 145. freafafag 3§ @ $H-2 R 3 3= 3
himself as ‘Asokaraja’ ? wd B TR gaid R g ?
(A) Minor rock edict | at Maski in (A) e & Tl 1 Bt Rremrerg s
Karnataka
(B) Minor rock edict | at Gurjara in (B) weawew # o Ry Bier R wuH
Madhya Pradesh
(C) Minor rock edict Il at Brahmagiri in (C) ek A safilt e ®1er Rieera feada
Karnataka
(D) Minor rock edict Il at Yerragudi in (D) vy ¥ N X o R
Andhra Pradesh i
@ wd & fore v
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146.

147.

148.

Which of the following statement is
correct with respect to Atoll ?

1. It is coral reef having horse shoe
shape.

2. Found maximum in Red sea, China
sea and Australian sea.

(A) Both 1 and 2 are correct
(B) Both 1 and 2 are incorrect
(C) 1iscorrect 2 is incorrect

(D) 2is correct 1 is incorrect

India is located

(A) 8°N t037°N

(B) 8°4'Nto37°6'N
(C) 8°30"'Nt0o37°20"N
(D) 8°40'Nto38°N

Consider the following statements :

i. Alamatti dam is on the Cauveri
river.

ii. Mettur dam is on the Krishna river.

ii. Gandhi Sagar Reservoir is on the
Chambal river.

Which of the statement given above

is/are correct ?

146.

147.

148.

01223/FE — ETS/ELG — E

@iA & a9 i B-u1 wud qh @ 7

1. 91 % 1el % STHT ATl wart
fafer

2. o IR, < A ek areferan #
T J1fres @ 9 € |

(A) 1323w &
(B) 1 3R 2 <M1 7erd 8
(C) 14dt 27Tem @
(D) 24& 1 7@ ®

Ta fa ?

(A) 8°IWH 37° IW

(B) 8°4' IWH 37° 6' IW
(C) 8°30' IWH 37° 20’ I
(D) 8°40' ITWH 38° IW

frer sl W ReER AR
i aTem STY R0 T WA R |

i, N ST FOM T W AR |
jii, i GUR 9@ e Sew T4 W R |

3 R A § FE-T/AFATER ?

(A) iand ii only (A) Fad i 3

(B) iionly (B) %aau

(C) iand iii only (C) Wli’m ii

(D) iii only (D) ad il
% @ & ferg wm™
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o P . ¢ ,ﬁ
149, ﬁﬂﬁ@?ﬁfﬂ—ﬂlt@ﬂ?ﬁﬂf{ﬁmw

149. Which one of the following States does
not received most of its rain fall from SW 2.9, qHgA B AF aqf 7 w2 7
Monsoon during the month of June to
September ?
(A) Karnataka (A) e
(B) Odissa (B) 3@
(C) Maharashtra (C) =g~
(D) Jammu and Kashmir (D) < T HYHR
150. Match the following : 150, §& TW T : )
1. Yellow a. For encouraging 1, frefiwifd . e )
revolution production of “1eg
Lin seed ' iy
2. Green b. For encouraging 2, gawifd b ?3?35q'3 e
revolution fisheries production e
3. Blue c. For encouraging 3, fich i c. FfY IeAeH Pl TG
revolution agriculture 1 zd
production 4 ;
4. Brown d. Forincreasing 4. g w  d % 3R H 94 7T
revolution woolen products
1 2 3 4 1 2 3 4
(A) a c b d (A) a c b d
(B) a c d b (B) a c d b
() ¢ a b d C) c a b d
(D) a b c d (D) a b c d
& & & fom s
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